aining blank pages.

1. On completing your answers, compulsorily draw diagonal cross lines on the rem
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Important Note : 1.

50, will be treated as malpractice.

w’ 18CS34

COmputer Orgam;ﬁt;on

VC‘!.

“~’" Max. Marks: 100

Note: Answer any FIVE full questions, choﬁs‘gg ONE full question fr@each module.

4

Mgﬁle-l

a. [Explain the basic operational concegft,of the computer with a neapdiagram. (06 Marks)
b. What is performance measuremgﬁ%f lain the overall SP@@Jﬁtmg for the computer in a
program suite. - Q’% g; 4 (08 Marks)
c. Explain the following : ] s
(i) Byte addressability (é;);gBlg-endlan assignment (iii) Little-endian assignment.
i " (06 Marks)
" é%
%
&
a. Show how the b’elow expression will be ﬁéecuted in one address, two address and three
address processg %1 an accumulator or
X=Aa B CxD N (08 Marks)
b. What. 1s v.cffective address of the s9urce operand in each of the following instructions,
when Reglster R1, and R2 of com uter contain the de 1mal value 1200 and 46007
() ,L;gad 20(R1) R5 (ii) l\gov 3000, R5  (iii) Sterg'R5, 30(R1 R2)
(iv) Add— (R2), RS- (v) Stibtfact (R1)}+, R5 g3 (08 Marks)
c. Interpret the Subroutine Stack&rame with examp&%y‘ ; y ' (04 Marks)
g Module-2 o
a. [Illustrate a program tha‘t‘%eads one line . e keyboard stores it in memory buffer, and
echoes it back to he (flsplay in an I/O inte *v:%&‘sf (10 Marks)
b. What is an int %7 What are. Integuﬁ’(,ﬁ@rvxce routmesf‘gwd what are vectored interrupts?
Explain with example Y & (10 Marks)
& a2
OR !’:%&%?3/
a. Demgns‘i'rpte the DMA andsﬁﬁx lementation and.show how the data is transferred between
mem?myfand I/0 devices MA controller.s (08 Marks)
b. With a neat diagram, explaity the general 8 Dit-parallel interface circuit. (06 Marks)
ra%&plam PCI bus daf? tranfer in a compl,g‘;%:} stem. (06 Marks)
”‘%%” Médule-3
a. Explam the ?rgamzatlon of 1k x I&memory chip. (08 Marks)
b. Witha negtj'ggfe explain the diggot mapped cache in mapping functions. (08 Marks)
c. What is megjory mterleavmg"}ixplam _ (04 Marks)
oo OR '
a. With a neat diagram brigfly explain the internal organization of 2M x. 8 dynamic memory
chip. P : (08 Marks)
b. [Illustrate cache ;ﬁé;ppmg techniques. (06 Marks)
c. Calculate the a¥ %age access time experienced by a processor, if a cache hit rate is 0.88, miss
penalty is 0. OI illiseconds and cache access time is 10 microseconds. (06 Marks)
, gm;;.t_ ggz_w 1 0f2 .

o

i~
oo
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Module-4 ﬁ' gﬁ é%’

Perform the addition and subtraction of signed num q!;ﬁ;
(i) +4and—-6 (ii) —5and -2 (iii) ﬁﬂ g3 (iv) +2 and + 3
(08 Marks)
Explain 4 bit carry - look ahead adder with a neaydxagram (06 Marks)
Perform bit pair recoding for (+13) and (—fﬁ%” A deay (06 Marks)
Perform Booth’s algorithm for si umbers (- 13) and (+ 11).¥ (10 Marks)
Show and perform non restorin %mn for 3 and 8. 1@%’ (10 Marks)
&
. Module—S )
Illustrate the sequence o pg ions requlred to execute tﬁe following instructions
Add (R3),R1 . o~ g (10 Marks)
Explain the three bus%nization of a data path &z@tﬁ a neat diagram. (10 Marks)

v Ri
Compare and cg‘;}gast the following :  ; -

(i) Hard zwired control _
(i) Mls;%p rammed control. 4 (10 Marks)

What 4§ pipeline? Explain the 4@;@5 pipeline thhﬂgs;,mstructlon execution steps and
ha:cf&?%te organization. g%’} (10 Marks)

& | @? ., ,{;‘a -

py *****»‘“ ;¥ f*“:f
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